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SHAFE HEMMEHAHTBRE RE (B)
RAFEEE 9,398,428 M
% H SR 8,993,380 M
Z=h|KE%E 405,048 m
m A (B4 0 )
K 15 | TEL N3
1.818¢ 1.8{8% 1.818% 7,832,000 7,832,000
2. @& 1.f8h= 1.f8h= 1,566,000 1,566,400
3BEE |ligge |lgEs 0 0
4FERNA |LEEIRA |LEIA 1,000 28
= 9,399,000 9,398,428
m (B M)
K 15 B LYTERE | RAERE | TEIRE S H AR
1238 |[lozE 0 0 0 0
1LEEE
2.EBE 1.E=BE 1,000 980 1,980 1,980
2EEE = 1.E2x%%5 7,832,000 -1,380 7,830,620 7,425,000
3RESE 1.RZE® 1. RESE 1,566,000 400 1,566,400 1,566,400
4.FEE 1LFHE 1LFHE 0 0 0 0
= 9,399,000 0 9,399,000 8,993,380
SHM5%F A HigH
KEMMFEAREBERE ak Bl X2




